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Příloha č. 6 - Výpočet výkonů vzt jednotek 

 

Zima: 

𝑒𝑥𝑡: 𝑡𝑒 = −17 0𝐶 

𝑖𝑛𝑡: 𝑡𝑖 = 22 ⁰𝐶 

𝑥𝑒 = 0,75 [
𝑔

𝑘𝑔 𝑠. 𝑣.
] 

𝜑 = 40 % 

Zimní provoz: 

1) E-2 předehřev pomocí ZZT: 

𝜂 =
𝑡𝑒2 − 𝑡𝑒1

𝑡𝑖1 − 𝑡𝑒1
 

𝑡𝑒2 = η ∗ 𝑡𝑖1 − η ∗ 𝑡𝑒1 + 𝑡𝑒1 = 0,75 ∗ 22 − 0,75 ∗ (−17) − 17 = 12 ⁰𝐶 

2) 2-P dohřev 

𝑡𝑝 = 18 ⁰𝐶 

𝑡𝑖 = 22 ⁰𝐶 

VZT: 

HRH 15: 1300 [𝑚3/ℎ] 

HRH 20: 1900 [𝑚3/ℎ] 

HRH 30: 2800 [𝑚3/ℎ] 

1. 

HRH 15: 𝑄𝑜 =
1300∗1,2

3600
∗ 1,01 ∗ (18 − 12) = 2,6 [𝑘𝑊] 

HRH 20: 𝑄𝑜 =
1900∗1,2

3600
∗ 1,01 ∗ (18 − 12) = 3,8 [𝑘𝑊] 

HRH 30: 𝑄𝑜 =
2800∗1,2

3600
∗ 1,01 ∗ (18 − 12) = 5,6 [𝑘𝑊] 

2. 70/50 ⁰C 

HRH 15: 𝑄𝑜 =
1300∗1,2

3600
∗ 1,01 ∗ (70 − 50) = 8,7 [𝑘𝑊] 
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HRH 20: 𝑄𝑜 =
1900∗1,2

3600
∗ 1,01 ∗ (70 − 50) = 12,7 [𝑘𝑊] 

HRH 30: 𝑄𝑜 =
2800∗1,2

3600
∗ 1,01 ∗ (70 − 50) = 18,8 [𝑘𝑊] 

 


